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3_[\-’
101482009000571 FIVvEE HNEESH B HEEF E=ka 377 829 |388.25
101482009000977 BR* = HNEREZ PR HEER R4l 380 76.7 |381.05
101482009000990 Yalkg 3 AMNENEZB IEER ==k 401 741 |391.85
101482009001217 KRR HANEREZ B HIBEER E=ka 369 76 372.3
101482009001560 ONE ANEREZ B HEEF E{=ka 394 79 394.3
101482009001593 X AMNENEZ B HIEEIF 2B 386 822 | 3935
101482009002001 F* HNEEF R HEEF E{=kal 393 759 |388.95
101482010000266 XS kool o E=ka 375 87.75 [394.13
101482010000548 =g kool ERER SR E=kal 366 81.25 |[378.08
101482010000723 F*i IRZART pjr= E{=kal 367 83.75 [382.53
101482010000803 aK* AR Py E=ksl 384 86.5 |398.55
101482010001434 RN RZART SRR SR E=ka 340 87.25 |368.88
101482010001639 o R RS HTE E=ka 320 92.5 |362.75
101482010001781 BT RZR EFER SR £H4| 362 87.5 |384.65
101482010002188 THZR HE ==k 331 72 339.7
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U 148201 1UUU455 = Z2/NLT b5 2/NILLT EHH 393 B2.U4 | 3Y8.10
101482011000503 F* AR 2K =k 389 77.04 |387.86
101482011000546 F* ZARIRITER 2K =k 395 82.24 |399.86
101482011000985 e SRR AR =Bl 361 79.52 |371.98
101482011000987 7% AR 2T Ex{=k 364 73.48 |365.02
101482011001012 B*R SRR 2K =k 412 79.2 407.2
101482011001066 F* AR 2K =k 444 82.6 434.7
101482011001202 T AR ER % N an =B 366 81.8 378.9
101482011001232 =Y ZARIRITER 2T £H4l 370 82.08 |382.12
101482011001538 FE SARRITEFR 2K E{=kal 392 81.6 396.8
101482011001683 FIV-ER ZARIRITER 2T £H4l 374 76.48 |376.52
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